. ¥ o ]
WONDER %72 15014001 1509001 15045001 @ (@ Ce M. Rokis & saso &) © @) (@)
T Syrchronigation with the futare

BHiERS SWE %

BREM=HRPREMNETXREN (IE3)




SWE 3%

EEM= RS B

= e : RIEHFN:
FiEmS SWE 5= 55 R B 25 S S
SN EBEREN. HMEIETES GB18613- = ks IMER=I=
2020 3 LRBERMATAESE IEC60034-30, 2014 B4 IE3 s s F Y At
=3 SWE — — —
. o _ . 160-355 —m } [ = -
EFEEE’%#T/E—$EEiEEE7f)1r“>zr“mEFﬁﬁ .- |
n IM 2001 IM 201 IM 2031 IM 2051 IM 2061 IM 2071
}‘J— E2XN ﬁ ﬂE ZQJ.L&ﬂ(FZ\ Hbli\\ *I]Eé&\ E e )
H. T, 160-255 :m i:! é :IE] @: L
FiEsSENEERTFAE. EEN. .
WHS. RERZ. KA. FEEH. SHENm. & e o e

A, BIANE—RT @A RS, e I- @

FERSIFE=ART BHFE:
BARESRTERTAANRERR

-IP55 FIPER, F R4e%k, B CRT, S1 T1EH; 1) 5 “ WREH, IEC60034-7 DP#A%;@(
. B ELE 400V 2) BXIMV3, IMB6, IMB8 FIRE A XIIDIBE A,
- BNESNE 50Hz;
CIBITHIRRE: -20°C~40°C;
- IBTER < lOOOm;
- THEE 3kW R LATERHLA Y EZ A
4kW R L EBNA A EEA;
BEAR: 1C411 8 1C416,



SWE RTIESM=tEFT R HEXBINFEAREIE (1/4)

= wEER WERE
. % cosd -
wE |, | BE 1l SSsELR | e 5 e
o I — v e e P e
%

WEE i W J(kgm?)

o

0.75 1 80 2875 1.60 80.7 80.7 784 084 077 0.65 7.0 31 33 60 0.001 18
11 15 80 2875 2.26 827 829 812 085 0.78 0.66 7.3 34 35 60 0.001 20.5
15 2 90S 2900 2.96 842 844 830 087 082 0.71 7.4 2.3 31 60 0.002 245
2.2 3 90L 2900 4.20 859 86.6 859 088 083 0.72 7.6 2.5 32 59 0.002 29.5
3 4 100L 2900 5.65 871 877 8.9 083 083 0.71 7.8 2.5 35 63 0.004 36.5
4 55 112M 2920 7.36 881 887 882 089 085 0.77 7.8 24 33 63 0.007 46
55 75 1328 2925 10.0 89.2 895 8387 089 085 0.76 8.2 2.3 35 66 0.015 65
7.5 10 1328 2925 132 90.1 90.7 903 091 088 081 8.3 2.3 3.4 66 0.016 2
11 15 160M 2935 19.6 912 912 902 083 086 0.79 8.0 2.5 3.0 68 0.054 120
15 20 160M 2935 26.5 919 921 913 089 086 0.79 8.0 2.5 3.0 68 0.066 130
185 25 160L 2940 32.5 924 925 918 089 087 081 8.0 2.5 3.0 68 0.083 150
22 30 180M 2950 38.1 92.7 928 920 0950 087 0.80 8.2 2.6 32 70 0.108 185
30 40 200L 2950 51.6 933 933 925 0950 087 0.80 7.6 2.3 3.4 73 0.178 245
37 50 200L 2950 63.3 937 938 931 090 088 081 8.5 25 3.0 73 0.22 275
45 60 225M 2965 75.9 940 940 933 091 089 0.83 8.5 2.8 33 75 0.328 345
55 75 250S/M 2970 94.6 943 939 926 083 086 0.79 8.0 2.6 32 78 0.451 450
75 100 280S 2975 127 947 946 937 050 088 0.83 7.5 2.2 2.8 79 0.777 540
90 125  280M 2980 152 950 949 941 090 089 0.84 7.5 2.2 2.8 79 0.874 575
110 150 3158 2975 185 952 947 933 090 088 0.82 7.5 2.2 3.2 80 1.861 1010
132 175  315M 2975 222 954 950 937 0950 088 0.83 7.5 2.2 33 80 2.109 1070
160 215  315M/L 2980 268 956 952 941 090 088 083 8.0 2.5 3.2 82 2.419 1210
200 270 315M/L 2980 335 958 954 943 0950 088 0.83 8.0 2.5 33 82 2.667 1285
250 335 355M/L 2985 414 958 954 943 091 091 0388 7.5 19 2.6 83 4.028 1798
280 375 355M/L 2985 464 958 954 942 091 091 0.87 7.5 18 2.6 83 4.01 1885

315 420  355M/L 2985 522 958 955 944 091 091 0.88 7.5 18 2.5 83 4.728 1960



SWE RTIESM=tEZT R HEXBINFEAREIE (2/4)

ThEEEK
ThE cosd Rt | it

Loy 3 B BT | BE SRR | HE R AE

RuRE

WEE W J(kgm?)

0.55 0.75 80 1425 131 80.8 80.7 781 075 066 0.53 6.2 2.8 29 46 0.001 18
0.75 1 80 1425 1.75 825 824 801 075 067 054 6.2 2.8 31 47 0.002 19
11 15 90S 1445 2.39 841 812 794 079 071 0.58 6.8 29 3.2 49 0.002 23
15 2 90L 1445 321 853 854 836 079 071 058 6.8 2.8 33 51 0.003 29
2.2 3 100L 1435 4.58 86.7 87.0 858 080 073 0.59 7.5 3.0 3.2 51 0.008 35
3 4 100L 1435 6.02 877 883 875 082 076 0.64 7.5 29 3.1 51 0.009 39
4 55 112M 1455 79 88.6 89.2 837 083 078 0.66 7.6 2.3 2.8 55 0.019 45
55 715 1328 1460 10.8 89.6 899 889 082 076 0.65 7.8 2.4 2.9 55 0.033 62
7.5 10 132M 1460 14.4 904 90.6 898 083 0.718 0.66 7.5 2.6 2.8 55 0.041 4
11 15 160M 1460 204 914 917 911 085 080 0.69 7.5 2.5 2.7 60 0.105 124
15 20 160L 1460 273 921 924 919 086 082 0.73 7.8 2.5 2.8 60 0.112 145
185 25 180M 1470 33.5 926 93.0 926 086 082 0.73 8.0 2.5 3.0 65 0.166 195
22 30 180L 1470 39.7 93.0 933 929 086 080 0.69 8.3 2.5 3.2 65 0.187 215
30 40 200L 1470 532 936 938 934 087 087 0.74 8.0 24 31 68 0.302 265
37 50 2255 1480 65.4 939 941 936 087 084 0.76 7.5 2.3 29 68 0.538 320
45 60 225M 1480 80.2 942 943 938 086 083 0.75 7.8 2.6 3.0 68 0.635 350
55 75 250S/M 1480 96 946 947 941 087 084 0.76 7.5 2.3 2.6 69 0.785 457
75 100 280S 1485 133 950 950 942 086 083 0.77 72 2.2 2.5 70 1.552 590
90 125  280M 1485 157 952 952 946 087 085 0.78 7.2 2.2 2.5 70 1.865 654
110 150 3158 1485 189 954 949 936 088 086 0.79 7.2 2.3 29 74 3.48 1060
132 175 315M 1485 226 956 952 941 088 087 0.83 7.2 2.2 2.8 4 3.678 1120
160 215 315M/L 1485 271 958 956 948 089 087 081 7.2 2.2 2.8 74 4472 1200
200 270  315M/L 1485 338 96.0 958 949 089 087 0.82 7.0 2.1 2.6 76 4.856 1295
250 335 355M/L 1490 422 96.0 957 947 089 088 0.84 7.0 2.1 2.3 79 7.364 1820
280 375  355M/L 1490 473 96.0 957 949 089 089 0.86 6.9 2.1 2.3 80 8.014 1870

315 420 356M/L 1490 552 9% 957 949 089 089 0386 6.9 2.1 2.4 80 9.1 2000



SWE RTIESM=tEFT R HEXBINFEAREIE (3/4)

IhEREFEK

ne | . | @E cosp teg bl tetiy
e | FE T | FERE | ST RE

RuRE

WEE i W J(kgm?)

037 05 80 900 1.04 735 739 709 070 0.60 0.46 6.7 2.1 2.2 44 0.002 18
0.55 0.75 80 905 147 772 7719 754 070 0.60 046 6.7 2.2 23 45 0.002 20
0.75 1 90S 920 191 789 7196 775 072 065 052 6.5 2.2 2.2 45 0.003 24
11 15 90L 920 2.69 81.0 816 799 073 064 050 6.5 2.2 2.6 45 0.004 26
15 2 100L 925 3.55 825 834 824 074 067 0.54 6.5 2.2 2.6 46 0.008 34
2.2 3 112M 925 4.96 843 854 847 076 069 0.56 6.5 2.2 2.4 46 0.013 40
3 4 1328 950 6.6 856 86.6 859 077 070 0.57 6.8 2.2 2.5 50 0.037 57
4 5.5 132M 950 8.6 86.8 876 869 077 070 0.57 6.8 2.4 2.7 50 0.049 73
55 75 132M 960 116 88.0 888 882 078 0.72 061 7.0 2.5 2.8 53 0.058 T
7.5 10 160M 970 158 89.1 895 886 077 070 0.57 7.0 2.5 2.7 56 0.121 115
11 15 160L 970 22.8 90.3 904 892 077 069 0.55 7.0 2.5 2.8 56 0.145 136
15 20 180L 975 30.1 912 913 901 079 072 0.60 7.5 2.4 3.0 56 0.229 197
185 25 200L 980 36.9 91.7 919 910 079 073 0.60 7.5 2.5 29 59 0.342 226
22 30 200L 980 43.1 922 923 914 080 0.72 059 74 25 3.0 59 0.386 246
30 40 225M 980 55.5 929 932 927 084 081 0.76 7.0 2.0 2.3 61 0.625 314
37 50  250S/M 980 68.1 933 933 925 084 080 0.71 7.3 2.2 25 61 0.985 440
45 60 280S 985 82 93.7 938 931 085 082 0.74 7.3 2.3 2.7 66 1.733 520
55 75 280M 985 59 941 941 934 085 082 0.74 7.5 2.3 2.8 66 1.965 565
75 100 3158 985 136 946 944 935 084 080 0.70 6.7 2.0 2.2 70 3.723 970
90 125  315M 985 163 949 947 938 084 080 0.71 6.7 2.0 2.2 70 4.526 1065
110 150  315M/L 985 196 951 950 943 085 082 0.73 6.8 2.0 2.2 70 5.157 1135
132 175 315M/L 985 238 954 952 942 084 081 0.72 6.8 2.0 2.2 70 5.685 1200
160 215  355M/L 990 284 956 954 946 085 082 0.76 6.8 19 2.0 75 9.57 1755
200 270  355M/L 990 355 958 955 945 085 082 0.76 6.8 1.9 2.0 75 111 1890
250 335 355M/L 990 443 958 956 948 085 082 0.79 6.8 19 2.0 75 118 2120

280 375 355M/L 990 496325 958 956 948 085 083 0.78 6.8 19 2 75 12.9 2080



SWE RTIESM=tEFT R HEXBINFAREIE (4/4)

IhEREFEK

ne | . | @E cosp teg bl tetiy
e | FE T | FERE | ST RE

RuRE

WEE i W J(kgm?)

0.18 0.25 80 700 0.84 584 573 551 053 046 041 6.5 2.0 2.0 45 0.002 19
025 033 80 700 1.02 644 635 609 055 046 041 6.5 2.0 2.0 45 0.003 21
037 05 90S 710 133 704 691 662 057 050 045 6.5 2.0 2.0 45 0.003 22
0.55 0.75 90L 710 1.85 739 721 717 058 051 045 6.5 2.0 2.0 45 0.004 24
0.75 1 100L 715 2.36 764 761 750 060 055 047 6.8 2.0 2.1 47 0.007 31
11 15 100L 720 3.30 788 785 766 061 056 048 7.0 2.0 2.1 47 0.010 32
15 2 112M 720 4.13 80.7 80.1 795 065 060 0.53 7.0 2.0 2.1 49 0.013 38
2.2 3 1328 725 5.81 828 834 822 066 061 0.55 7.0 2.0 2.2 50 0.034 55
3 4 132M 725 7.67 843 839 825 067 062 0.55 7.2 2.2 2.3 50 0.042 71
4 55 160M 725 9.37 856 852 831 072 066 0.56 6.0 2.1 2.2 53 0.089 103
55 75 160M 730 12.50 870 871 852 073 067 0.56 6.0 2.1 2.2 53 0.099 114
7.5 10 160L 730 16.80 882 881 863 073 067 0.56 6.0 2.0 2.2 53 0.102 136
11 15 180L 730 24.30 89.6 893 878 073 068 0.56 6.6 2.0 2.3 53 0.228 193
15 20 200L 735 32.30 90,6 903 831 074 068 057 6.6 2.0 23 55 0.395 246
185 25 2255 735 39.00 912 913 897 075 069 0.58 6.6 19 2.0 55 0.603 288
22 30 225M 735 46.20 917 918 838 075 0.69 058 6.6 19 2.0 55 0.698 310
30 40 250S/M 735 60.80 925 926 911 077 071 0.60 6.6 1.9 2.0 58 0.983 395
37 50 280S 735 73.60 93.0 928 912 078 072 0.63 6.6 19 2.2 58 1.857 515
45 60 280M 735 89.20 934 931 917 078 073 0.63 6.6 1.9 2.2 58 1.998 570
55 75 3158 740 106 938 934 922 080 075 0.65 6.6 18 2.0 63 4.959 965
75 100 315M 740 143 943 938 926 080 0.75 0.5 6.6 18 2.0 63 5.825 1030
90 125 315M/L 740 170 946 941 928 081 075 0.65 6.6 18 2.0 63 6.753 1120
110 150  315M/L 740 207 949 944 931 081 075 0.65 6.4 18 2.0 63 7.352 1205
132 175 355M/L 745 244 951 947 932 082 078 0.68 6.4 18 2.0 70 12.94 1865
160 215  355M/L 745 295 954 950 935 082 078 0.68 6.4 18 2.0 70 13.32 1965

200 270  355M/L 745 368 956 953 936 082 0.78 0.68 6.4 18 2.0 70 14.9 2130



SWE £% B3 MERERTE

AD

LD

(@i

HD

=
T
[
|
|
|
SAC

T
[ o |

oD

|
||

L ] & /
= =i Tl T
< K AA
d
E C B A
B1 AB
BB
L

RERST (mm)

MEES | thEx
I o Jox[c o e e leln el on [l e [0 om0 L
80 246 125 100 / 50 19 40 6 155 80 10 M6X16 215 34 160 175 145 10 225 135 120 306
90S 246 140 100 / 56 24 50 8 20 90 10 M8X20 27 36 174 195 155 12 250 130 137 316
9L 246 140 125 / 56 24 50 8 20 9 10 M8X20 27 36 174 195 155 12 250 155 137 341
100L 246 160 140 / 63 28 60 8 24 100 12 MI10X25 31 40 200 218 190 14 270 179 143 385
112M 246 190 140 / 70 28 60 8 24 112 12 M10X25 31 45 235 243 190 15 303 180 165 386
132S 246 216 140 / 8 38 80 10 33 132 12 MI12X30 41 55 270 278 220 18 341 182 194 458
132M 246 216 1718 / 8 38 80 10 33 132 12 MI12X30 41 55 270 278 220 18 341 220 194 496
160M 2~8 254 210 / 108 42 110 12 37 160 15 M16X36 45 64 315 314 241 20 401 260 256 610
le0L 2~8 254 254 /108 42 110 12 37 160 15 MI16X36 45 64 315 314 241 20 401 304 256 654
180M 24 279 241 / 121 48 110 14 425 180 15 MI16X36 515 68 351 355 262 22 442 311 271 684
180L 468 279 279 / 121 48 110 14 425 180 15 MI16X36 515 68 351 355 262 22 442 349 271 122
200 2~8 318 305 / 133 55 110 16 49 200 19 M20X42 59 75 388 397 344 25 544 369 296 774
2255 48 35% 286 / 149 60 140 18 53 225 19 M20X42 64 75 430 445 368 29 593 361 329 822
2 356 311 / 149 55 110 16 49 225 19 M20X42 59 75 430 445 368 29 593 386 299 816
2N 4~8 35 311 / 149 60 140 18 53 225 19 M20X42 64 75 430 445 368 29 593 386 329 847
2 406 311 349 168 60 140 18 53 250 24 M20X42 64 80 484 484 374 32 624 445 348 0911
2o 4~8 406 311 349 168 65 140 18 58 250 24 M20X42 69 80 484 484 314 32 624 445 348 911
2 457 368 / 190 65 140 18 58 280 24 M20X42 69 85 542 546 403 35 683 485 357 965
2808 4~8 457 368 / 190 75 140 20 675 280 24 M20x42 795 8 542 546 403 35 683 485 357 965
2 457 419 / 190 65 140 18 58 280 24 M20X42 69 85 542 546 403 35 683 536 357 1016
2o 4~8 457 419 / 190 75 140 20 675 280 24 M20X42 795 85 542 546 403 35 683 536 357 1016
2 508 406 / 216 65 140 18 58 315 28 M20X46 69 120 628 620 493 45 808 570 397 1201
0 4~8 508 406 / 216 80 170 22 71 315 28 M20X46 85 120 628 620 493 45 808 570 427 1231
2 508 457 508 216 65 140 18 58 315 28 M20X46 69 120 628 620 493 45 808 680 397 1311
ot 4~8 508 457 508 216 80 170 22 71 315 28 M20X46 85 120 628 620 493 45 808 680 427 1341
2 610 560 630 254 75 140 20 675 355 28 M20X46 795 120 726 698 593 52 948 750 425 1501
o 4~8 610 560 630 254 95 170 25 86 355 28 M24X56 100 120 726 698 593 52 948 750 455 1531



SWE £% B35 SMERERTE

AD

HD
~N
-
HD

.’__—_

oP
#N

k\\_/h
H
HA

T
1L
®

|
Ny
|

AA |

HA
I—Z/
/
\
Y

-
>

H80-200 H225-355

SMcRERYT (mm)

Rk

80
90S
90L

100L
112M
1328
132M
160M
160L
180M
180L
200L
225S

225M

250S/M

280S

280M

3158

315M/L

355M

4~8

2

4-8

2

4~8

2

4~8

2

4-8

140
140
160
190
216
216
254
254
279
279
318
356
356
356
406
406
457
457
457
457
508
508
508
508
610

610

100
125
140
140
140
178
210
254
241
279
305
286
311
311
311
311
368
368
419
419
406
406
457
457
560
560

~ Y~ Y~~~ e~~~ ~— ~—

349

349

~  ~— ~ ~ ~ ~

508
508
630
630

56

56

63

70

89

89

108
108
121
121
133
149
149
149
168
168
190
190
190
190
216
216
216
216
254

254

R=0 A SGEC A HE I MBS

24
24
28
28
38
38
42
4
48
48
55
60
55
60
60
65
65
75
65
75
65
80
65
80
75
95

50

50

60

60

80

80

110
110
110
110
110
140
110
140
140
140
140
140
140
140
140
170
140
170
140

170

125 100 / 50 19 40 6

8
8

10
10
12
12
14
14
16
18
16
18
18
18
18
20
18
20
18
2
18
2
20

25

155
20
20
24
24
33
33
37
37

425

125
49
53
49
53
53
58

58

58
67.5
58
71
58
71
67.5
86

90
90
100
112
132
132
160
160
180
180
200
225
225
225
250
250
280
280
280
280
315
315
315
315
355
355

10
10
12
12
12
12
15
15
15
15
19
19
19
19
24
24
24
24
24
24
28
28
28
28
28

28

165
165
215
215
265
265
300
300
300
300
350
400
400
400
500
500
500
500
500
500
600
600
600
600
740

740

130
130
180
180
230
230
250
250
250
250
300
350
350
350
450
450
450
450
450
450
550
550
550
550
680
680

80 10 165 130 200

200
200
250
250
300
300
350
350
350
350
400
450
450
450
550
550
550
550
550
550
660
660
660
660
800
800

4-012 M6X16 21.5
4-012 35 M8X20 27
4-012 35 M8X20 27
4015 4 MI10X25 31
4-9015 4 M10X25 31
4-015 4 MI12X30 41
4-015 4 M12X30 41
4-019 5 MI16X36 45
4-019 5 MI16X36 45
4019 5 M16X36 515
4-¢19 5 M16X36 515
4-019 5 M20X42 59
8-¢19 5 M20Xx42 64
8-¢19 5 M20x42 59
8-¢19 5 M20X42 64
8-019 5 M20X42 64
8-¢19 5 M20x42 69
8-019 5 M20X42 69
8-¢19 5 M20X42 795
8-¢19 5 M20x42 69
8-019 5 M20X42 795
8-®24 6 M20X46 69
8-024 6 M20x46 85
8-®24 6 M20X46 69
8-®24 6 M20X46 85
8-024 6 M20X46 795
8-024 6 M24X56 100

36
36
40
45
55
55
64

64

70
79
79
79
97
97

85

120
120
120
120
116

116

174
174
200
235
270
270
315
315
351
351
388
430
430
430
484
484
542
542
542
542
628
628
628
628
726

726

195
195
218
243
278
278
314
314
355
355
397
445
445
445
484
484
546
546
546
546
620
620
620
620
698
698

20
22
22

29
29

29

250
250
270
303
341
341
401
401
442
442
544
593
593
593
624
624
683
683
683
683
808
808
808
808
948

948

130 87

155 87
179 83
180 105
182 114
220 114
260 256
304 256
311 271
349 271
369 296
361 329
386 299
386 329
445 348
445 348
485 357
485 357
536 357
536 357
570 397
570 427
680 397
680 427
750 425

750 455

35 34 160 175 10 225 135 80 12

10
10
14
14
14
14
15
15
15
15
17
20
20
20
2
2
2
2
2
2
2
2
2
2
25

25

306

316
341
385
386
458
496
610
654
684
722
774
822
816
847
911
911
965
965
1016
1016
1201
1231
1311
1341
1501

1531



SWE £7% B5 SMERERTE

LD

LA

T AT\
G FE =T T
2
o 1% = =
101 b /]
E
L H80-200 H225-355
IMERE (mm)
BRI
80 246 19 40 6 155 165 130 200 4-912 3.5 M6X 16 21.5 175 245 12 80 306
90S 2.4.6 24 50 8 20 165 130 200 4-912 3.5 M8X20 27 195 260 10 87 316
90L 2.4.6 24 50 8 20 165 130 200 4-912 3.5 M8 X 20 27 195 260 10 87 341
100L 24.6 28 60 8 24 215 180 250 4-015 4 M10X25 31 218 295 14 83 385
112M 246 28 60 8 24 215 180 250 4-d15 4 M10X25 31 243 316 14 105 386
132S 246 38 80 10 33 265 230 300 4-015 4 M12 %30 41 278 359 14 114 458
132M 246 38 80 10 33 265 230 300 4-015 4 M12 %30 41 278 359 14 114 496
160M 2~8 42 110 12 37 300 250 350 4-019 5 M16 X 36 45 314 416 15 146 610
160L 2~8 42 110 12 37 300 250 350 4-019 5 M16X36 45 314 416 15 146 654
180M 2.4 48 110 14 42.5 300 250 350 4-019 5 M16X36 515 355 437 15 161 684
180L 4.6.8 48 110 14 42.5 300 250 350 4-019 5 M16X36 515 355 437 15 161 722
200L 2~8 55 110 16 49 350 300 400 4-019 5 M20X42 59 397 544 17 186 174
225S 4.8 60 140 18 53 400 350 450 8-®19 5 M20 X 42 64 445 593 20 189 822
2 55 110 16 49 400 350 450 8-®19 5 M20 X 42 59 445 593 20 189 816
2 4~8 60 140 18 53 400 350 450 8-®19 5 M20X42 64 445 593 20 189 847
2 60 140 18 53 500 450 550 8-019 5 M20X42 64 484 649 22 208 911
2905 4~8 65 140 18 58 500 450 550 8-019 5 M20X42 69 484 649 22 208 911
2 65 140 18 58 500 450 550 8-919 5 M20X42 69 546 678 22 217 965
290 4~8 75 140 20 67.5 500 450 550 8-919 5 M20X42 79.5 546 678 22 217 965
2 65 140 18 58 500 450 550 8-¢19 5 M20X42 69 546 678 22 217 1016
260 4~8 75 140 20 67.5 500 450 550 8-®19 5 M20 X 42 79.5 546 678 22 217 1016

R=0 A& & HE 2 HBRIEE R



SWE %1 V1 {MERERTE

DAC
(o] o
‘ 0
F
| |
< ‘ |
— 4 | |
|
o0 % ! u
‘ |
3 | !‘:ﬁﬁ
H80-200 H225-355
9 —
SN
P

SRERST (mm)
&k
80 246 19 40 6 155 165 130 200 412 35  M6X16 215 175 245 12 80 306

90S 2.4.6 24 50 8 20 165 130 200 4-012 35 M8X20 27 195 260 10 87 316

90L 2.4.6 24 50 8 20 165 130 200 4-012 35 M8X20 27 195 260 10 87 341

100L 2.4.6 28 60 8 24 215 180 250 4-015 M10X25 31 218 295 14 83 385
8

112M 2.4.6 28 60 24 215 180 250 4-015
1328 2.4.6 38 80 10 33 265 230 300 4-015
132M 2.4.6 38 80 10 33 265 230 300 4-015
160M 2~8 42 110 12 37 300 250 350 4-019
160L 2~8 42 110 12 37 300 250 350 4-019
180M 2.4 48 110 14 425 300 250 350 4-019
180L 468 48 110 14 425 300 250 350 4-019
200L 2~8 55 110 16 49 350 300 400 4-019
2258 4.8 60 140 18 53 400 350 450 8-019

2 55 110 16 49 400 350 450 8-019

M10X25 31 243 316 14 105 386
M12X30 41 278 359 14 114 458
M12X30 41 278 359 14 114 496
M16X36 45 314 416 15 146 610
M16X36 45 314 416 15 146 654
M16X36 51.5 355 437 15 161 684
M16X36 51.5 355 437 15 161 722
M20 X 42 59 397 544 17 186 774
M20 X 42 64 445 593 20 189 822
M20X42 59 445 593 20 189 816

2ol 4~8 60 140 18 53 400 350 450 8-019 M20 X 42 64 445 593 20 189 847
2 60 140 18 53 500 450 550 8-019 M20X42 64 484 649 22 208 911

205/ 4~8 65 140 18 58 500 450 550 8-919 M20 X 42 69 484 649 22 208 911
2 65 140 18 58 500 450 550 8-®19 M20x42 69 546 678 22 217 965

2905 4~8 75 140 20 675 500 450 550 8-019 M20 X 42 79.5 546 678 22 217 965
2 65 140 18 58 500 450 550 8-019 M20<42 69 546 678 22 217 1016

290 4~8 75 140 20 67.5 500 450 550 8-019 M20X 42 79.5 546 678 22 217 1016
2 65 140 18 58 600 550 660 8-024 M20X 46 69 620 823 22 257 1201

2 4~8 80 170 22 71 600 550 660 8-024 M20 X 46 85 620 823 22 257 1231
2 65 140 18 58 600 550 660 8-024 M20X46 69 620 823 22 257 1311

M/ 4~8 80 170 22 71 600 550 660 8-024 M20 X 46 85 620 823 22 257 1341
_— 75 140 20 67.5 740 680 800 8-024 M20X 46 79.5 698 993 25 285 1501

o o o o o o »ho ;o u; ;o ;o ;i ;L A DB

48 95 170 25 8 740 680 800  8-024
R=0 NG EC S EEI MR RIIERS

M24 X 56 100 698 993 25 285 1531



SWE RYUEZER~T

HES SFLBE5EREM (mm) SMER (mm)

80-100 2-M25X 1.5 112X112X56
112-132 2-M32X 1.5 140 X140 X 64
160-180 2-M32X1.5 170X180X77
200-225 2-M50X 1.5 226X240X139
250-280 2-M63X 1.5 235X250X124.4
315 2-M63X 1.5 300X320X153.5
355 2-M63X 1.5 350X380X192.5

SWE R5lhiHES

B E| G ]

80 620527/C3 620527/C3 620527/C3 620527/C3
90 6206 27/C3 6206 27/C3 6206 27/C3 6206 27/C3
100 6206 27/C3 6206 27/C3 6206 27/C3 6206 27/C3
112 6207 27/C3 6207 27/C3 6207 27/C3 6207 27/C3
132 6208 27/C3 6208 27/C3 6208 227/C3 6208 27/C3
160 6209 27/C3 6209 27/C3 6209 27/C3 6209 27/C3
180 6211/C3 6311/C3 6211/C3 6211/C3
200 6212/C3 6312/C3 6212/C3 6212/C3
225 6312/C3 6313/C3 6312/C3 6312/C3
250 6313/C3 6314/C3 6313/C3 6313/C3
280 6314/C3 6317/C3 6314/C3 6314/C3
315 6317/C3 Nu319 6317C3/7317B(V1) 6319C3/7319B(V1)
355 6319/C3 Nu322 6319C3/7319B(V1) 6322/7322B(V1)

BINERXGAH. 8RRNGEERT, BIERREINU R514H#,



WONDER &%

% 31988

M EBRSBRATE

ik EEARMTEFAREKRIRERKFK 120 5
kR : www.wonderfz.com

IiRFE: wonder@wonderfz.com

BXZAMIE: 0591-83998899

I fEER: 0591-83998666

REREBIBRAE

it BRAERENBETIRXIGAR 239 5
®JkFLL: www.wonder-cn.com

ALERFS: wonder@dayu-casting.com
BXZHiE: 0593-6379666 6379988

ilkfEE: 0593-6379999

FBERENBEEBRATE
Hink: _ESHITOXFER 203 SKE 2308 =
kBB : shpld@126.com

BEZAHIE: 021-65355573
EIfER: 021-65460669

4 —
FHEBSSRALLEF
Husik: No.11, Jalan Meranti Jaya 16, Taman Meranti Jaya
Industrial Park, 47120 Puchong, Selangor, Malaysia
ILEB#E: sales@wonderelectric.com.my
EXZHiE: +603-8063-9399

HiEBESHINEAE

#bfk: No. 111, Neythal Road, Singapore, 628598
Il #BFE: wondersg@singnet.com.sg
EXZHiE: +65-6265-8698



